Math in English Brain Teasers level 3 #12

Which option is the correct one ?
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Which number completes the puzzle ?
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puzzle3 puzzle 4
What is the missing number in Which number is the odd
the following pyramid ? one out ?

:
L (o) o) @2
32 @ @4

www.mathinenglish.com

4 18165

www.mathinenglish.com

copyright: www.mathinenglish.com



M:thin English Brain Teasers level 3 #12

Answer to brain teasers

puzzlel: C
The circle is 4, hexagon 2, square 8 and star 1.

puzzle2: 3
In each triangle, multiply the adjacent cells and add 2.

puzzle3: 5
Only the last digits of a lower row are in a higher row.

puzzle 4 : 42
42 is not a multiple of 8.
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